1

=S E

o A12()7] 20233 12¢€ 31 AA
o A11(x)~] 2022d 12€ 31 AA

(&9 : 2)

t L 20239 (H127], &7 2022'd (H117], ™7])
Kot
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2. SR 9,788,893,901 9,811,529,374
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2 == 40,240,982 40,240,982
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3) &7|7HI= 277,391,781 262,692,781
U2 A A (229,487,864) (197,528,860)
(4) 7|Efe] RAXpL 64,863,000 64,863,000
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3. FAXH 100,973,250 138,664,250
(1) 2ZEQ 0 100,973,250 138,664,250
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4) 2ZEQof 230,587,057 151,937,878
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1. CHAAM == 15,705,886,249 11,296,217,790
(Aiktets) (3,791,714,077) (1,483,973,724)
2. LiAA === | 1,238,888,370 1,005,850,161
3. 2EAEEY - 32,659,613
4. 7|EterE Y 900,000,000 1,200,000,000
o. &7t 11,914,172,172 9,844,112,886
1. CHAARA Rt 11,914,172,172 9,812,244,066
2. ARt - 31,868,820
m. oj&E350/¢ 2,138,888,370 2,206,640,954
Iv. THOfH|Q EHa[H| 4,907,834,459 4,753,879,645
1. 29 1,452,073,695 1,596,340,253
2. E¥aq 171,239,689 198,828,298
3. SE|2d4H| 170,035,452 174,922,051
4. OjH|u-EH| 13,531,000 10,257,100
5. S4lH| 16,121,900 9,493,853
6. =& 17,855,332 22,014,042
7. M35t 765,580 7,118,300
8. &7teZiH| 37,961,232 19,209,400
9. X2 Atz 79,159,338 78,177,289
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11, XpEFX[H]| 3,538,020 4,179,876
12. ATL7H'2H] 119,252,100 56,270,000
13. W2 FH| 11,526,240 11,266,237
14. =X QlafH] 8,221,590 7,003,180
15. YF=2IH]| 27,076,150 14,975,690
16. 2D EH]| 25,487,883 28,063,862
17. XlgssEs 263,108,354 552,402,591
18. E82 872,500 806,704
19. I MFH| 3,850,000 -
20. CHEat2H| 2,297,472,640 1,886,554,980
21. T2 37,691,000 28,867,977
22. MR 16,504,091 14,981,782
23. Zoa 4,566,580 3,251,920
V. G40/ 2,768,946,089 2,547,238,691
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VI. SLlH| & 185,578,689 104,162,268
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